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‘Moving objects’ are different — SHubun SINW

Overview

The & na differentiates between >7°°17 *20%un, which can be acquired through
2R PIp, only if they are m2n2 PMax, and 71 K77 “Huhun which can be
acquired through 23X 1P even if they are not 712102 72X, Our MdOIN will
qualify the term 7217 *Hv%0n.
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The explanation of the term >717 *%u5un is that they possess knowledge;
this limits the rule of >7°°17 *20%vn to 0°72v¥ who have nyT -
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However cattle are not considered moving »u>v» and are, therefore,

acquired through 23X 117 even if they are not piled up on the ypp -
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as the X723 relates in the first P92 of PPwWYTP NdOn; a person states ‘I am
giving a plot of land the size of a v by a new to him and with this field I

am also giving him a hundred sheep.z’ The recipient acquires the sheep through
23X 1Ip, even though seemingly sheep are 717 *Hvbun as are 0°7av. This proves that only
o°7ay are considered >7°°17 *2u%vn and cannot be 73p3 unless they are 719102 2>1MY; however
animals can be 771p1 through 23X 1°1p even though they are not 712%.

Summary
0°72Y are 73p1 through 23X 7°3p only if they are 712102 17 Y; however all other

0°°11 °%¥2 can be 73p1 through 23X even if they are not 72107 PN2X.

Thinking it over
1. What is the 77 concerning the 7°3p of an jup 72V through 23X 7Ip. Is it
necessary for the vp 72V to be 712102 721V or not?’

2. Why, concerning 23X 11, do we distinguish between n¥7 72 and not 12
nvT; as opposed to distinguishing between >7°1 and >71 857

3. Why does not m»oin cite the word “7°17' in his ?°nnnn M2°7 (after all this
1s the main issue)?

" The term "w11°0' is (usually) used to negate the simple meaning. Here too mooin is negating the literal
meaning of >7°°17 *2u%vn which would include nwia.

%1t is obvious that a hundred sheep cannot be 1 112% on a 1Y %Y 1Y of YPIP.

’ See 1"nX.

* See n"m1.

TosfosInEnglish.com



